flay,m2) = e®2(2? — 21 /22)

For function f - Draw the computation graph, Fill in the blanks for the forward
pass AD and reverse pass AD tables at (z1,z2) = (1,2)

Part 1 - Computation Graph

Forward Primal Trace

vV_1 =1 =1

() = X2 =2

1 = e% = 7.389
ve =%, =1

V3 = Ul};ol =0.5
V4 = Vg — V3 =0.5
Vs = V41 = 3.694
Y =5 = 3.694

Part 2 - Forward Tangent Trace (Find Banl)

Uil = =1
vy = =0
v = =0
Ug = =2
vs = =0.5
T =15
Us = =11.08
¥ =11.08
Part 3 - Reverse Adjoint Trace
V-1 = =11.08
vy = =5.54
vy = =0.5
vy = = 7.389
vy = = —7.389
vy = = 7.389
Uy =1



